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SLC-353

B.Com. Part-III (Supplementary) Examination, 2022

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Paper - I
(Business Budgeting)

Time : 1% Hours | [ Maximum Marks : 100
Section-A (Marks : 2 x 10 = 20)
Note .— Answer all ten questions (Answer limit 50 words). Each question carries

Note —

M -

2 marks.

(@us—3) (3® : 2 x 10 = 20)
Tfi T YAl % I T (ST 50 ) | FAF YIA 2 3F HT T
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tus-a) (3T : 8 x 5 = 40)
g § § sl ure 7o & S AT (ST 200 E) | TEE 9T 8 Ik
H T

Section—C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(@us—a) 37k : 20 x 2 = 40)
gﬁﬁﬁﬁﬁagﬁ@ww (IR-H 500 ¥13) | T&F T 20 HF

|
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Section-A
(TUs-3)
1. (@ What is ‘Budget Manual’ ?
‘aote g’ T ?
(i) What is a Flexible Budget ?
dreRie a5e F ¥ ?
(ii1) What do you mean by Production Budget ?
SR oS ¥ SIS FM S T2
(iv)  Give two characteristics of Performance Budgeting.
froure ooted i @ fagiand SR
(v)  What is ‘Zero Base Budgeting’ ?
‘Y STHR aSed’ F R ?
(vi)  What is Business Barometer ?

o DN A

AFHNHIh SHIEY =T % ?

(vil) What is ‘Time Lag’ ?
‘T ST R ?

(viii) Name two limitations of Budgetary Control.
EECAERELEC B it
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(ix) What do you mean by Uncertainty ?
sAfafeaaar &1 s o™ § 2
(x) What do you mean by Variance ?
faeror & sTyeRt ;N Aed ¥ 2
Section-B
(Tue-9)
2. What is ‘Budget Manual’ ? What are its advantages ?
‘oote iR’ T 2 THE F A § 2
3. From the following information prepare a Production Budget of M.L. and Sons

Limited assuming that :

(1) There is no loss in production.

(i)  Normal loss in production is 2% and 5% for product X and Y respectively.
(ii1)  Sales budget for product X and Y is 7,680 and 8,280 units respectively.
(iv)  Stock on 1st June : X—1,200 and Y— 2,200 Units.

(v)  Stock on 30th June : Estimated to be 10% more in quantity.

fa faSl ey o o~

THfAREd g ¥ TH.UE. T0E €9 fafiee @1 3ced dse JAEd, I8 9Md gU T

(i) SoRd ® ®E @ T
(i) S XY & fag wasn: Sad § 9@ w1 2% @ 5% §)
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(ili) S X qen Y &1 fawa oo a9 7,680 T 8,280 3HEAT &

(iv) 1 SF * =fF : X # 1,200 T Y FT 2,200 THTEA |

(v) 30 5[ & =iE ;A A 10% ST ST ¥

months ending 31st December :

4. How performance budget differs from Traditional Budget ?
eI woie ReRET S 9 R yeR fae § 2

5.  An investigation into the demand of T.V. Sets in the following town has supplied
the following data :
frafafea ww=i & et Y8 & /T & TIEYE 9 T 9He 3ues ¥

Towns A B C D E F

Population (’000) 12 15 15 18 18 22
Demand for T.V. Sets (’000)| 20 38 38 40 45 40
Estimate the No. of T.V. Sets demanded in G town with a population of 30,000
by least square method.
A & qfd g/ 30,000 FF SHEES 9 G w H A qH &P AT FSTHAA
TS |

6. From the following information prepare a monthly Cash Budget for the four

3] fEE=R ® ¥H< TH 99 WR W & fou frefated ge @ I e TR

HIST
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Expected Sales Expected Purchases
Months
) )
September 50,000 32,000
October 60,000 60,000
November 45,000 70,000
December 80,000 45,000

Other relevant informations are as under :
(@) Wages to be paid to workers ¥ 6,000 per month,;

(b) Dividends from investments amounting to ¥ 1,000 are expected on

31st December;
(©) Income tax to be paid (in advance) in December, ¥ 2,000;
(d)  Preference share dividend of ¥ 5,000 is to be paid on 30th November;
(¢)  Balance at Bank on 1st September is expected to be ¥ 6,000.
1 grafeud geAd 39 YR T
(31)  sftRi = HeEH YT T 6,000 TiEE R ST E;
(%) fafmEm & enwiw 2 1,000 31 feowsw = smferm ©;
(W) &g smEaR % 2,000 fem=R ¥ gm fHa S g
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10.

11.

Bl-116 ( 6 ) SLC-353

(z) eAfemm o9 @nwier 5,000, 30 TSR I GHET S E;
() 1 faT=R # FF W T 6,000 TET T
Explain the difference between Risk and Uncertainty.
Siferd Ta STHfY=aar § o T i |
“A proper reporting system is essential for efficient management.” Explain.
‘e ey & fau e sfed ufdees womelt sTavas §1 wwemsTl

Section—-C

(Tue-9)
What do you understand by ‘Budget Committee’ ? What are its functions ?
‘I FHA' W W F WA © 7 THE H HE © 7
Explain the importance of Performance Budgeting. Also describe its limitations.
fToIEs oSt Yomell & e &l GHSSU | SHeh! WHisl @1 auH oft wifew)
From the following information calculate Material Cost Variance, Material Price
Variance, Material Usage Variance, Material Mix Variance and Material Yield
Variance :
Frfafea gemel § el arma foeror, It qoa fa=mon, amft seEn foewo, |

fomror qen SR Sced fa=r & oA Sifse



Standard Actual

Material Qty. Price Cost | Qty. Price Cost

(kg) ) @ [ kg )

X 120 5 600 112 5 560
Y 80 10 800 88 10 880

200 1,400 200 1,440
Loss : 60 - 50 -
Output 140 1,400 150 1,440

12. What is Master Budget ? Describe briefly the usual subsidiary budgets of master

budget.

O I 1 € ? AR oS & Hede oeidl o G99 § foasd wife)
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